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BBA-105

INDIAN SOCIETY AND CULTURE

Time Allotted: 3 Hours : Full Marks: 70

The questions are of equal value.
The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.

GROUP A
(Multiple Choice Type Questlons)

1. 'Answer any fen questions. : 10x1 =10

(1) A system by which a society is divided into groups on the basis of
superiority, inferiority and equality is called

(A) social mobility (B) social stratification
(C) social inequality (D) none of these

(i) Open stratification is the characteristic of
(A) slavery - (B) caste
(C)class E ~ (D)all of these ”

(ii1) The Community Dévelopment Programme was started in India in
(A) 1952 (B) 1970
(C) 2001 ' ‘ (D) 1950

(iv) Demographic segmentation of Indian population is reflected in
(A) election process
(B) census .
(C) consuming behavior analysis
(D) income analysis
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(v) Rising occupation of age-old 1nhab1tants in a partlcular location for
setting up industries is an ethical

(A) disturbance (B) dilemma
(C) question (D) conception

(vi) The eminent social worker Medha Patkar is associated with

(A) Chipko Movement ~ (B) Arya Samaj
(C) Narmada Bachao Andolan (D) Minority Development

(vii) The Buddhist scripture “Tﬁpitak” was written in the language
(A) Pali : . (B) Maithili
(C) Bhojpuri (D) Hindi

(vii1) The exponent of Social Contract Theory is

(A)Locke (B) Hobbes
(C) Adam Smith . (D) Rousseau

(ix) The “Digambar” and “Pitambar” sects belong to the religion
(A) Buddhism (B) Jainism
(C) Sikhism , (D) Hinduism

(x) Disguised unemployment is generally found in
(A) agricultural sector (B) industrial sector
(C) tertiary sector’ (D) tribal people

(xi) Class-struggle is most intense in a -
(A) capitalistid society : - (B) primitive society
(C) feudal society » (D) socialistic society
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GROUPB
(Short Answer Type Questions)

Answer any three questions. . 3x5=15

2. What measures are taken to curb terrorism in India?

3. What is the difference between society and culture?

4. Briefly discuss the Cha;acteristics of an Industrial society.
5. Write a short note on Tribal Society.

6. “Begging is a curse both for the individual beggar and for the society”

— Discuss. ‘
GROUPC
(Long Answer Type Questions)

. Answer any three questions. ' 3x15 =45
7. (a) Define poverty with major types. 4 | | 5
(b) What are the major causes-of it? ’ , 5
. (¢) Critically assess the poverty alleviation measures in India. ‘ 5
8. (a) Write down the difference between terrorism and insurgency. 5
(b) Write a short note on violence against women. 5
(c) Write down the features of post industrial society. ) & 5

9. (a) How can population exploéion be controlled?
(b) Write a short note on age sex composition of population in India.

(c) Discuss the government policies for alternating the problems of
population explosion. '

10.  Examine the problem of child labour in India referring to its magnitude, 15
causes and measures to-control the system.
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11.  Write short notes on any three of the following: 3x5
(a) Value Crisis '
(b) Indian culture vs Western culture
(¢) Causes of unemployment '
(d) Reservation policy
(e) Immigration and Emigration (difference only)
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